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[ E4R|2t]
2:(700)AtJHIE  81(710)FUHIE  MIEh(751)deka2|d]  =:(100)2174H] (Tl - el
n 2 2] L=
F LAV I wea | §hq | 37
g A 42,582,278 | 8,375,000| 34,207,278
700 ArgH|IE 329,653 212,868 116,785
710 EYHIE 269,653 208,978 60,675
751 Yytztely| 269,653 208,978 60,675
100 QlH| 146,358 146,358 0
101 Q1| 146,358 146,358 0
01 24 146,358 146,358 0
osg 98,828
062(32588) 4,460,480x1Ex12% = 53,526
072(24%8) 3,775,120x1Yx12¢ = 45,302
odgolsg 15,410
o3 FATY
6= 4,460,480x1Hx4.1%x12¥ = 2,195
e= 3,775,120x1Hx4.1%x12¥ = 1,858
o¥daY 8,237
6= 4,460,480x1Ex50%x23| = 4,461
78 3,775,120x1¥x50%x23| = 3,776
o F2eYIMtg L 2IHF 130,000%2Fx12% = 3,120
O7HHEASY 5,645
oJtEY
Y22} 40,000:2Ex12¢¥ = 960
2LE 80,000x2Yx 128 = 1,920
o AHASHH| B2 G 345,600x2Ex435]| = 2,765
oz22LY 9,688
o FUE
6= 1,450,000x19Y = 1,450
e= 1,314,000x1% = 1,314
o 222547
= 3,637,200x1% = 3,638
= 3,285,600x 1% = 3,286
OMHIEYS 16,787
o HAUGAH| 140,000x2Ex12¢ = 3,360
o FAEFIHH|
6= 4,460,480x60%x1Ex23| = 5,353
7= 3,775,120x60%x1Hx23| = 4,531
o 7L 4|
= 4,460,480x86%x1Ex1/30x15¥ = 1,919
= 3,775,120x86%x1@&x1/30x15Y = 1,624
200 S7H| 123,295 62,620 60,675
201 YotEH| 88,455 28,020 60,435
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BO0OMUIE H(I0IAHIS  METSUTA S Q0NHDL Y @l 12
2 =2
F LAV I wea | §hq | 37
037 |ESAS T 80,000x2Fx12¢ = 1,920
o0t 2L A AR R H IS FH 80,000x2Ex 128 = 1,920
214 SRR A H| 15,360 15,360 0
05 FMRAH| 15,360 15,360 0
OR|HZ7|Y OIS AA| A 72| 248 9,360,000 = 9,360
OD|ZYEA| wA[&2H| 6,000,000 = 6,000
800 ojiH|H| 60,000 3,890 56,110
801 OfH|H] 60,000 3,890 56,110
801 of|d|y| 60,000 3,890 56,110
01 erojHy| 60,000 3,890 56,110
O ojj5|H| 60,000,000 = 60,000
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[
2HQ00)AH2AHRE 8 (220)FAAHIE]

| OEE 2704002 (e 2
T = T
— = ofue | GEw| 37
200 AI2AZ|Z 42,252,625 8,162,132 | 34,090,493
220 ExRzpAE| S 21,915,148 0f 21,915,148
224 Ojet= 21,915,148 0f 21,915,148
704 Ojetz 21,915,148 0f 21,915,148
OSEMY o+yst7 |2 olEtZ 21,915,148,000 = 21,915,148 | 21,915,148 0| 21,915,148
290 7|ERRIE2AHR|E 20,337,477 8,100,000 | 12,237,477
299 VIERREAZ|IE 20,337,477 8,100,000 12,237,477
406 7|EtAt20|A 20,337,477 8,100,000 | 12,237,477
02 7I|ERAI2AR|E 20,337,477 8,100,000 | 12,237,477
OFEE02R| 7 EAIZHLALRY EES|A| 1,000,000,000= 1,000,000
OQAMZA|T ZAPPHEAIS E- 4,500,000,000 = 4,500,000
OUZA| T ZAPHEAIY EE 14,837,477,000 = 14,837,477
800 ojjH|H| 0 62,132 A62,132
801 oflH|H| 0 62,132 N62,132
801 ofjH|H| 0 62,132 N62,132
01 <EtojH[y| 0 62,132 A62,132




